37 20GA, STRUT ATTACHED
W/ (2 1/4° x 3/4*

HEX HEAD SCREWS AT
EACH END STILE

12 GA. (MIN> GALV. STEEL
COMMERCIAL TOP ROLLER
BRACKET ATTACHED W/(3>
1/4° x 3/4° HEX HEAD
SCREWS PER BRACKET

2 STEEL ROLLER []
W/5% STEM L ADJUSTABLE ROLLER CARRIER
ATTACHED W/ (@) 1/4' x 1l/2°
— BOLT & NUT PER BRACKET

TYPICAL TOP FIXTURES
N.T.S.

—32° MAX. SECTION HEIGHT
GLAZING OPTIONAL

3" 20GA. STRUT ATTACHED
W/ @) 1/4" x 3/4*

HEX HEAD SCREWS AT
EACH END STILE

24 GA (MIN>
EXTERIOR SKIN

14GA. CENTER HINGE
ATTACHED

W/ (D) 174" x 3/4"
HEX HEAD SCREWS

N

3° x 20 GA. STRUT

3’ x 20 GA, STRUT

END_HINGE
14 GA.

x 20 GA. STRUT

S
(SPLICE)

—

D-F

x 20 GA. STRUT

EMBOSSMENTS NOT.
SHOWN FOR CLARITY

I——

SEE TABLE 1
PAGE 2

JRESE—

) ?

9'-0° MAX {
INSIDE ELEVATION
N.T.S.

14 GA, END HINGE ATTACHED
W/ (6) 1/4° x 3/4*
HEX HEAD SCREWS

3" 20GA. STRUT ATTACHED
W/ @) 1/4° x 3/4°

HEX HEAD SCREWS AT
EACH END STILE

of

2 STEEL ROLLER

b W/5° STEM
TYPICAL END HINGE 3
N.T.S.
(1) 5/16” DIA. x 1-5/8" 2 X 6 SYP OR SPF
LAG BOLT ATTACHED TO JAMB (NO. 2

/ AT EA. JAMB BRACKET
20 GA STILES\
L )

7/16" DIA. BOLT RETAINER
(1) PER ROLLER

2" GALV. STEEL TRACK
TRACK THICKNESS .055”

1/4-20 x 5/8°TRACK

SPLICE BOLT AND NUT

OR ¢ RIVETS
TRACK MOUNTING DETAIL

N.T.S.

TYPICAL CENTER HINGE 8
N.T.S.

3’ 20GA. STRUT
ATTACHED W/ (@
1/74* x 3/4" HEX

HEAD SCREWS

2% STEEL ROLLER
W/5* STEM

TYPICAL BOTTOM BRACKET,

N.T.S.

SPLICE TRACKS AT THIS LOCATION

LAG BOLTS

(1) 5/16" DIA. x 1-5/8"
LAG BOLT ATTACHED TO JAMB
AT EA. JAMB BRACKET

12 GA. GALV. STEEL
JAMB BRACKETS
ATTACHED W/ (1) 1/4"-20
TRACK SPLICE BOLT & NUT
OR (2) RIVETS

W/ (4) 1/4"-20 TRACK SPLICE BOLTS & NUTS
SECURE TO JAMB WITH (3) 5/16” DIA. x 1-5/8"

BOTTOM BRACKET

13 GA. THICK ATTACHED
W/(D) 174" X 3/4*
HEX HEAD SCREWS

©

Al

x 20 GA, STRUT

[l

TRACK CONFIGURATION FOR 8' TALL DOORS

BOTTOM BRACKET
ATTACHED

W/ (5) 1/4" x 3/4"
HEX HEAD SCREWS

3° x 20 GA. STRUT

N.T.S SEE TABLE 2 PAGE 2

ALL TRACK ATTACHMENTS +/— 2
WITH SYP OR SPF NO. 2 OR BETTER

—]
>

REV | DESCRIPTION OF REVISIONS DATE  |BY
SECTION A—A (SIDE VIEW) MAX SIZE _ g
x 14 —m <
N.T.S. g o S A S \ N
DESIGN LOADS R =< OF \ o
+26.7 PSF | ¥2 = ,\‘;\‘3 5* 2 Y z
—31.6 PSF cﬁ; PN Yo l) 5
<32 Wkl 2
TEST LOADS | &x £ % 7 ¢
(1.5 x DESIGN LOADS) g ; AC)
riotes | §5 4 THOMASL SHELUEROERY | ¢
INTERIOR OF GARAGE —47.4 PSF | ¢ ¢ Z
—=]  MAX. WDTH 90" |=— §.§ ) 85829 Q,a 'z

=] ‘.

DESIGN LOADS ég ‘\ S’ONA\_ “ ol 2
R s on s gt M 2
F—a g
wn

SPECIFICATIONS AND NOTES

THE METHOD OF TESTING WAS IN SUBSTANTIAL
CONFORMANCE WITH THE PROCEDURE DESCRIBED IN ASTM
E330 AND ANS|/DASMA 108. THE PRESSURES SHOWN ON THE
DRAWINGS WERE CALCULATED USING ASCE 7—-16 WITH THE
FOLLOWING PARAMETERS (5 FEET OF DOOR WIDTH IN THE END
ZONE, ROOF AT ANY SLOPE):

1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE VERTICAL TRACK,
FROM THE TRACK THE LOAD IS TRANSFERRED TO THE VERTICAL JAMBS.

ary

THE HORIZONTAL JAMB OR HEADER RECEIVES NO PORTION OF THE LOAD
TRANSFERRED FROM THE DOOR.

2. EACH VERTICAL JAMBS RECEIVES MAXIMUM DESIGN LOADS OF:

+120.2 LBS/FT & -142.2 LBS/FT

3. DOORS AND HARDWARE WILL BE DESIGNED, MANUFACTURED

AND INSTALLED WITH STANDARDS AS SET FORTH BY DASMA.

MODEL

#500

CLASSICA 1000, 2000

WIND SPEED (MPH) | 169 | 153 | 145 | 139 | 133 4 DOOR SECTIONS SHALL BE 2¢ GA. MIN. (.022") ROLLED FORMED LIGHT
COMMI 1AL ALITY.

TN e A A Sl N 2, SO STUCLL Bams L 2R e oo (3015
BY A IONAL ENGINI — —_ —
INDICATED ON THIS DRAWING IN ADDITION 10 OTHER LOADINGS. B | cHECKED BY DL/ | DATE 01/18/21 IRC-5309-130-1
6. DOOR IS MANUFACTURED AND TESTED IN ACCORDANCE WITH AMARR COMPANY
THE 2018 IRC/IBC 165 CARRIAGE COURT WINSTON-SALEM, NC, 27105 | SHEET 1 (F 2




DOOR HEIGHT

MMMNIIHINnN

VERTICAL LIFT

AN

AVAILABLE TRACK CONFIGURATIONS

HIGH LIFT

i

39.054
(GLASS)

TABLE 1 TABLE 2 TABLE 3
Section Center Stile Locations | Max Design Loads DOOR TRACK ATTACHMENT _ |SPLICE SECTION |STRUT SIZE
(Measured from Left Allowed TOP 3"
Width Positive | Negative z
5TH
3Il
4TH 3
— 3
3RD 3
3"
2ND =
— 3
- 3"
BOTTOM .
_ - 3

* HINGED STILES

STANDARD LIFT

1

WOOD JAMB ATTACHMENT TO STRUCTURE

2]

LOW HEADROOM

N.T.S.

2 X 6 VERTICAL JAMB ATTACHMENT TO WOOD FRAME STRUCTURE

5/16° X 3" LAG SCREWS STARTING 6“ FROM ENDS THEN 24" OC. (1 1/2° EMBEDMENT)

2 X 6 VERTICAL JAMB ATTACHMENT TO 2,000 PSI CONCRETE

HILTI KWIK BOLT 3/8" X 4’ STARTING 6° FROM ENDS THEN 24° O.C. <2 1/2" EMBEDMENT)

HILTI SLEEVE ANCHOR 3/8° X 2-3/4” STARTING 6 FROM ENDS THEN 24° OC. <1 1/4’ EMBEDMENT)

ITW/RAMSET REDHEAD (TRU-BOLT> 3/8* X 47 STARTING 6° FROM ENDS THEN 24° 0O.C. (2 1/2° EMBEDMENT)
X 6 VERTICAL JAMB ATTACHMEN

SIMPSON 174 X 3* TITEN SCREWS STARTING 6° FRDM ENDS, USE PAIRS OF FASTENERS

(3” APART) AT 24 OC. (1 1/2° EMBEDMENT)

HILTI 1/4* X 2-3/4" KWIK-CON II+ SCREWS STARTING 6 FROM ENDS, USE PAIRS OF

FASTENERS (3° APART> AT 24° 0O.C. {1 1/4° EMBEDMENT)

T ATTACHMENT TO GROUT C-90 BLOCK <200 ROUT
HILTI SLEEVE ANCHOR 3/8“ X 2-3/4” STARTING 6” FROM ENDS THEN 24“ 0OC. (1 1/4
EMBEDMENT> <OR, USE FASTENERS FOR HOLLOW C-90 BLOCK>

*_AGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE.

*PREPARATION OF wOOD JAMBS BY OTHERS
\
GROUTED BLOCK
STRUCTURE

A A
.:I \

wooDp CONCRETE
STRUCTURE STRUCTURE

\} !
IR S I | -
172" MIN \ 2-3/4* MIN 1-1727 |[MIN 4

2X6 JAMB
TYP.

A}
HOLLOW BLOCK
STRUCTURE

EMBEDMENT

T I

21.625" |||, , .

(GLASSD

GLAZING FASTENER DETAIL
N.T.S.

GLAZING OPTION CROSS SECTION

GLAZING NOT AVAILABLE IN WIND-BORNE DEBRIS REGION
GLAZING MEETS ASTM E 1300-04

DearaFrame WINDOW FRAME

Ywm_‘ UV PROTECTION OPTIONAL Decra INSERTS

WITH UV PROTECTION

IN. 1/8" THICK
/ / TEMPERED GLASS

MOLDED INSIDE FRAME:

(2) #8 X 3/4"

PAN HEAD SCREWS
AT EACH WINDOW FRAME

SECTION B-—B
REV | DESCRIPTION OF REVISIONS DATE  [BY
MAX SIZE Q
9’ x 14 = 5
NSO o~
DESIGN LOADS| 38 o
+26.7 PSF | #2 S
—31.6 PSF | &= 5
xE 3
o =
TEST LOADS | &% ~$
(1.5 x DESIGN LOADS) q;:(’ o
+40.1 PSF | S& g
~47.4 PSF | 8¢ z
£ =
22 3
a2 &
8 < =
i—"‘;.; g
wn
MODEL #500
CLASSICA 1000, 2000
SZE| DRAWNBY  DRC| DATE 01/06/21 DRAWING NUMBER
B | cHEcke BY DL| DATE 01/18/21 IRC-5309-130-15
AMARR COMPA
165 CARRIAGE COURT VINSTDN-SA':\E(M. N.C. 27105 SHEET 2 OF 2




